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GSE/M-20 1434

PSYCHOLOGY
(Experimental Psychology)

Time : Three Hours] [Maximum Marks : 50

Note : Attempt five questions. Question No. 1 is compulsory.
Select one question from each unit. All questions carry
equal marks.
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Compulsory Question ( 3TE™ WgT)

1. Write short answer of the following questions :
(a) Who gave Filter theory of attention ?
(b) Sensory memory is also called ...............
(c) What is Differential threshold ?
(d) What is Convergent thinking ?
(e) What is the first stage of STM ?
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UNIT-I (ZaT3-1)

2. Describe the nature and characteristics of Attention. (5,5)
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3. What do you understand by Psychophysics ? Describe
method of limits and method of constant stimuli of

Psychophysics. (2,8)
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UNIT-II ( 3ehtE-11)

4. Define Learning. What are the factors that affect learning ?

(2,8)
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5. Explain Classical conditioning and Operant conditioning.
(5,5)
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UNIT-III ( gahT3-I11 )

6. Define Memory. Explain Episodic and Semantic memory.
(2,8)
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7. Throw light on Pneomonics by defining forgetting. (10)
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UNIT-1V (S&E-1V)

8. Define Problem solving. Explain various stages of Problem
solving. (5,5
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9. Calculate the Mean, Median, Mode of the following

distribution : (10)
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102-104 9
99-101 3
96-98 4
93-95 2
90-92 1
_N=40
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